) ¢ ' @ ' Multiplier par des puissances de dix ( nombre
= manquant )

Nom: Date: Note: _
2,021 % = 2021 5,492 x = 549.2
10, 792 x = 10792 3,701 x = 3701
8,019 x =801.9 6, 134 x = 61.34
5,063 x = 50.63 8,262 x = 82.62
10, 719 x =1071.9 7,115 x = 7115
5,13 x =513 5,927 % =592.7
9,204 x = 92.04 7,461 x = 746.1
2,004 x = 20.04 2,519 x =25.19
5,19 x =51.9 4,575 % = 4575
3,318 x =331.8 1,916 % = 1916
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' (@ Multiplier par des puissances de dix ( nombre
R =) manquant )

Nom: Date: Note: __
2,021 x 1000 = 2021 5,492 x 100 = 549.2
10, 792 x 1000 = 10792 3,701 x 1000 = 3701
8,019 x 100 = 801.9 6,134 x 10 = 61.34
5,063 x 10 = 50.63 8,262 x 10 = 82.62
10,719 x 100 = 1071.9 7,115 x 1000 = 7115
5,13 x 100 = 513 5,927 x 100 = 592.7
9,204 x 10 = 92.04 7,461 x 100 = 746.1
2,004 x 10 = 20.04 2,519 x 10 = 25.19
5,19x 10 =51.9 4,575 x 1000 = 4575
3,318 x 100 = 331.8 1,916 x 1000 = 1916
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